i{ﬁﬁ B FER3X 5 FIA O

5 A Hhig
O~14% |15~64m] 65mLLE £t O0~145% |15~64i%| 65mLLE &t
E: 10,197 50,954 22,705 83,856 ] 2,609 12,907 6,327 21,843
s 9,699 52,384 31,186 93,269 = 2,518 14,110 9,048 25,676
it 19,896] 103,338 53,891 177,125 =t 5127 27,017 15,375 47519
B 11.2% 58.3% 30.4% 100.0% AL 10.8% 56.9% 32.4% 100.0%
EEAOIEE 71.4 EAOESH 75.9
- INSE T 19.3 EINSECE 19.0
ZEANOEHR 52.2 EEANOEH 56.9
ZELIBEH 270.9 ZEILIEE 299.9
S 84,377 i 23,181
Eits his R R J5k
O0~14%% | 15~645%| 65m Ll E £t O0~14%% | 15~645%| 65 LA E Hi
E] 1,303 6,785 3,580 11,668 3] 2,103 9,789 4517 16,409
=S 1,239 7,054 4,879 13,172 = 1,916 9,889 6,302 18,107
&t 2,542 13,839 8,459 24,840 it 4,019 19,678 10,819 34,516
R 10.2% 55.7% 34.1% 100.0% HERCLE 11.6% 57.0% 31.3% 100.0%
- PNEEE 79.5 DN 75.4
D INSECE 18.4 D PNEEE 20.4
E - INSET 61.1 EEANOEHK 55.0
ZELIEH 332.8 EFLIEH 269.2
T 11,516 T 16,191
K ithis F B hig
O0~14%% |15~645| 65m Ll E &t O0~14%% | 15~64%%| 66mLLE £t
E:] 2,735 14,065 5,141 21,941 ] 1,447 7,408 3,140 11,995
S 2,680 13,791 6,853 23,324 = 1,346 7,540 4,104 12,990
Hi 5,415 27,856 11,994 45,265 it 2,793 14,948 7,244 24,985
R 12.0% 61.5% 26.5% 100.0% R 11.2% 59.8% 29.0% 100.0%
HEAOES 62.5 EEAOEH 67.1
F/HOANOEH 19.4 L ONNE T 18.7
ZEANOER 43.1 EEANOEH 48.5
ZEIEHR 2215 EZELIEH 259.4
5 22,083 P 11,406
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O~14--FE4 AA (A)
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65 E --EFEAO (C)

ERAOEH=A+C)-BXx100
FELANOEH=A-Bx100
ZEAOEH=C+-Bx%x100
BELIEH =C+-AXx100
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